Review of Taxes (Handout 14.5)

1. Describe the difference in meaning between r​m(200,000) and reffective(200,000). Which rate is likely to be higher?

2. Describe the difference in meaning between T(35,000) and rm(35,000).

3. Explain why you must always separate income into chunks when calculating the tax using marginal tax rates. 
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4. Given the graph above, calculate income tax for a person who earns…

a. $68,000 each year

b. $149,000 each year

5. Explain how you know how many dollars should be charged at 25%, in #4.

6. Now, calculate the effective tax rates for the salaries in #4.

7. Give an example of marriage penalty using easy-to-understand tax amounts.
